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You have 20 apples. You want to put four apples in each dish.
How many dishes can you serve.

-1-1--1 i = =£

(=&
20 apples +~ 4 apples in each dish = 5 dishes
20- 4 = 16
6 - 4 = |2
2 -4 = 8
8 -4 = &
4 -4 = 0

You have 42 books. You want to give 6 books
to each boy. How many boys can get books?
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You have 36 pens. You want to give 9 pens to each
students. How many students can get pens?

— —=

You have 14 flowers. You want to put 2 flowers
in each bouquet. How many bouquets can you make?

4 =2 = ... bouquets




Use the number line to find

I5+3]=
-3 =3 =31 =1 =3
0 I 2 3 4 5 6 T 8 9 10 4 15
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Lomplete the table

Multiplication Division
3x2=6 2%X3=6 6+2=3 6+-3=2
BX B= i 30+5=6

L4Xx7=28 72 -9=8

Match the multiplication operation to the division operation .

4L8+6 =28 {8 x 7=156/

36+6 =6 {8 x6=148

(56=7 =8 {6 x6=136




of two-digit numbers without a reminder

Complete the division operation to find 48+ 4

|2
Ltens+ 4 = |  ten 4_2 8
Bunits=- 4 = 2 units = 0 8
s A8 =4 =2 8
0 O
Complete the division operation to find 36 =3 313 6
3tens+- 3 =  ten N
bunits=3 = ‘units &

X0 +3 =




Use long division to find the quotient

3 |4 2 4 |9 2 6 |7 8

Fill in the box to find the quotient
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of three-digit numbers without a reminder

1]4]2)
Complete the division operation to find 284 + 2
2 hundreds ~2 = hundred 2— % 8 4
8 tens -2 = tens 0 8
4 units -2 = units 8
00 4
L
00
Complete the division operation to find 378-+9
Ask how many 9s in3? "
How many 9sin 37?7 9 3 7 8

How many 9sin 187 —_—

L 378 HFER. o




Divide to find the missing numbers

RN L

5‘345 313 5 |




of two-digit numbers with a reminder
Divide then find the remainder

29+9=

Quotient —

Remainder ==
Lb=+06 / Quotient \

Quotient =— Divisor| Dividend
Remainder —
- Remainder+—
26+ 5= A )
Quotient” =—

Remainder —

Divide using long division




Divide using long division

4169 5(83

Divide to find the missing numbers

b |

2\99

96




of three-digit numbers with a remainder

| 4 9
895 =+ 6 = |49 and the remainderis 1 —Gg 95
29
2 4
To check your answer []' 5 5
5 4
0 |
Dividend = Quotient » Divisor + Remainder
895 = | 49 X B + 0]
Divide to find the missing number . JEER. WA - IEN.w
e[ 6
24 4|6 6 6
_Wf o =,
[ |6
LI 2 4
1 8 0

8 |76 3




Divide using long division

8 [/ b6 3

3 |32 2 7186 3

2 |8 173 6 |76 3
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